1
5 of the gemstones
recovered were rubies.

true or false

1
g of the gemstones
recovered were diamonds.

true or false

There were more rubies
recovered than emeralds.

true or false

50% of the gemstones
recovered were sapphires.

true or false

1
5 of the gemstones
recovered were diamonds.

true or false

1
% of the gemstones
recovered were sapphires.

true or false

The number of diamonds
and emeralds recovered was
equal.

true or false

25% of the gemstones
recovered were emeralds.

true or false

There were more sapphires
recovered than rubies.

true or false

There was an equal amount
of emeralds and rubies
collected.

true or false




